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QUESTION 1

When replicating block data using virtual RPAs, what array connectivity is required for hosts with replicated LUNs?
A. FC only

B. iSCSI only

C. Either iSCSI or FC

D. Both FC and iSCSI

Correct Answer: C

QUESTION 2

A customer is replicating from a single source VNX to two remote VNXs using VNX Replicator. The customer has a
requirement to restore a file system on the source VNX to the same point in time from either of the secondary VNXs.

Which VNX replication solution should you discuss with your customer?
A. One-to-Many with Incremental Attach

B. One-to-Many

C. Cascading

D. Many-to-One

Correct Answer: A

QUESTION 3

A Storage Administrator is considering the design for three VNX systems using VNX Replicator for remote protection of
the file data.

If designing for cascaded replication, how many checkpoints will be necessary in total for all three VNX in a standard
configuration?

A. 3
B.4
C.6
D.8

Correct Answer: D
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QUESTION 4

Which virtual network device can be configured as Active/Standby?
A. LACP

B. FSN

C. Ethernet channel

D. VLAN Tagging

Correct Answer: B

QUESTION 5

A VNX customer has configured multiple CIFS servers and IP interfaces for general office use. CIFS servers are
configured both on the physical Data Mover and also on multiple Virtual Data Movers.

They now need to re-purpose one CIFS server to make it accessible on a separate, isolated subnet. They have
researched the concept of "Interface Stealing".

Which statement is correct about Interface Stealing with CIFS servers?

A. It is possible between CIFS Servers hosted on the same virtual Data Mover.

B. It is impossible between CIFS Servers hosted on the same physical Data Mover.

C. Itis possible between CIFS servers hosted on different Data Movers (physical or virtual).
D. It is impossible from the default CIFS Server hosted on the physical Data Mover.

Correct Answer: A
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